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Instruction Attempt all questions.

(i) ICH gfg TavEe €Y, @ fosll svean W@l H gAE Fig)
Use diagrams or flowcharts, if necessary.
(i) W T 9 ¥ 17 TF & W A ARk faseq fag T ¥

Question Nos. 9 to 17 have internal choices.

fader : (1) 9 HHid 1 TS W T T @O (3), e (9) W@
e (W) FI TS @ A S WA ¥ | WAH WA W 1 I
asifed

Instruction : (A) Question No. 1 is an objective type question. It has

three parts—Part (A), Part (B) and Part (C). Each part has
5 questions. Each question carries 1 mark.

-1 (@ue-3n) we famen e fofa . CGBOARDonline.com [1x5=5]
(Part-A) Choose and write the correct option :
() TeadicwadEvdad .
(3 IREEE I (@) T
(&) gEm (%) @M
Diadelphous condition is related to :

(a) Calyx (b) Corolla

(¢) Androecium (d) Gynoecium
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() =g o
Insulin hormone found in :

(a) Stomach (b) Pancreas

(c) Pituitary gland (d) Adrenal gland

(iif) T FAG A E

(37) THLAS (7) T, A
(g) S g (?) IT H | g Tl
Pace maker of the heart is :
(@) S.A.node () A.V.node
(¢) Purkinje fibres (d) None of the above
(iv) Afafrd Ffawnd o o €
(37) U A (7) I H
(7) 9% A (3) wHIH
Seminiferous tubules are found in:  CGBOARDonline.com
(a) Testis (b) Ovary
(¢) Kidney (d) Lung
(v) Wvse w1 frasia 3um © :
(37) 1:1:1 (7) 3
(T) 9:3:3:1 (%) 9:1:1:3
Mendel’s dihybrid ratio is : CGBOARDonline.com
(@) 1:1:1:1 (b) 3:1

() 9:3:3:1 d) 9:1:1:3
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(@ve-v) fga wr & gfd $ifag

(Part-B) Fill in the blanks :

() Feherd ifEnd —— F 9 R

Bulliform cells are found in )

(ii) gl qog o fere St €

hormones are responsible for flowering.

———

(i) DNA ¥ mRNA 1 71 — FEaE ¢ |
Formation of mRNA from DNA is called .

(iv) AT & — ¥

Nostoc is a .

CGBOARDonline.com

(v) —— SIRA H T i B T €

is the Father of White Revolution in India.

(W*F)Eﬁﬂﬁ'éﬁ?ﬁfﬂ;:

() @R
(i) EmreEfatad
(i) gEfaEr o
(iv) Fafg ufy
(v) “RlEH

(Part-C) Match the following :
(A)

() Insect

(i) Haemodialysis

(iif) Soilless culture

(iv) Mebomian gland

(v) Foetus
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(a)
(b)
(c)
()
()

(@)
(b)
(c)
(d)
(e)

(=)
TR |
=l
<fepdr ¢
qIEh 2
=l
HUERE

(B)
Hydroponics
Placenta
Trachea
Kidney

Skin

Ovary

[1x5=5]

[1%x5=5]
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frder -(a}wmzﬂswmmﬁmmm
' zmaﬁﬁaﬁl(maﬁﬁwm-ﬁmmm%)

. (B) Question Nos. 2 to 5 are very short answer type qucstiF-ns.
Each question carries 2 marks. (Maximum word limit of

answer is 30 words)

Instruction

gvi-2 e T Yheled § @ S R ? (2]
What is the difference between fellum and felloderm?

qyH-3 W#@mﬁwmwﬁﬁamﬁuﬁ%wwmm
wifad s ¥ M fafe )

Write the names of any two salivary glands found in buccal cavity of
man and give the name of enzyme secreted by it.

¥oT-4 <& Yo F 9 fet @ TiRdl % ey TE aretas W fafa) [1+1=2]
Write common and botanical names of any two plants which give pulses.
wWH-5-  HE T =1 £? CGBOARDonline.com [2]
What is compost manure?
T : (W) U FEF 6 9 8 e AfaergETig A 1 T&® ¥ W
3 3 Efed €1 (I w sifuman w=-Hm 50 v ®)
Instruction : (C) Question Nos. 6 to 8 are very short answer type questions.

Each question carries 3 marks. (Maximum word limit of
answer is 50 words)

W-6  HATUEA, STerqrEd vE Atfavoadt faeaa | oy s wm € 2 [1+1+1=3]

What do you understand by Isotonic, Hypotonic and Hypertonic solution?

[1+1=2]}

WeA-7 WA YRRV T Rae ARG R S50 [3]
Draw a labelled diagram of human sperm.
uv-8 T = afoafua swifa [1+1+1=3]
(37) THgrHt (@) fawmgrash
(®) Auere
CGBOARDonline.com
Define the following :
(a) Homozygous () Heterozygous

(c) Phenotype
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o : () mm’mqﬁuwmmﬁmﬁmwm4aﬁﬁ
amefea €| (maﬂsrﬁxwm—@mnwt)

Instruction : (D) Question Nos. 9 to 12 are short answer type que.:stl.cms.
Each question carries 4 marks. (Maximum word limit of

answer is 75 words)

wa W A 0, % qftee B THARY

Explain the transport of O, in human blood.

[4]
qy-9

CGBOARDonline.com SreraT
OR

T4 734§ TR fEsA F g H W= R AR [2+2=4]

Explain blood circulation in human heart by flowchart diagram.

wWR-10  Waad e = frafafu +1 e vaema)

Explain the mechanism of reflex action with labelled diagram.

[2+2=4]

3rerar
OR

Tig & et | & |9ies aueEy |
Explain ball and socket joint with labelled diagram.

W-11 92 @ fFw &% DNA #iew =1 1fax avfq sifs [2+2=4]

Describe with labelled diagram of Watson and Crick model of DNA.

erqr CGBOARDonline.com
OR

I WS F § ? 3 I g wnEna|

What is maternal effect? Explain with suitable example.
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W-12 S E 2 3EE TN, SR Ao Sl Ay ¥ gui it [1+1+1+1=4]

What is cancer ? Describe in brief its types, causes and symptoms.

CGBOARDonline.com
OR

Wﬂﬁwﬁﬁ%m%mmmﬁ@mﬁ@1

Write the names of two species of honeybee and write chemical
component of honey.

fdr : (%) W S 13 § 15 7% SHITE W € | Tl W W S IR
afa §1 (ST H SfuHaT TR-HH 150 W= ¥)

Instruction : (E) Question Nos. 13 to 15 are long answer type questions.

Each question carries 5 marks. (Maximum word limit of
answer is 150 words)

wWA-13  HEE W U SR Ol @6 99 et a6 A fer@e I
aifrafhaarsi | 2 9 SR Y@ W 1G9 R [1+4=5]

Write the name of the largest endocrine gland found in human and

describe four important diseases due to its disorders.

3rerar CGBOARDonline.com
OR
- F YR 1R ? v weiua Rt = I o e 9o Hife

What is artificial respiration? Describe in brief any four diseases
related to respiration.

wva-14 T fond = 8 2 snaaeiish ey ¥ fgfi=m = afas awgme

What is fertilization ? Explain the double fertilization in
angiospermic plant with labelled diagram.

[2+3=5]

CGBOARDonline.com
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srifiren S RATY = TR ¥ 2 5o o 2 el ) e T

What do you mean by Asexual reproduction? Explain its any two
types with suitable diagram.

wA-15 & SH, T WeleRe vfismeq &) aaemse)

Explain One Gene, One Polypeptide concept.

SHerqr
CGBOARDonline.com OR

Wy | e fruftor whean =61 fvon e gro g

Explain the sex determination process in human with the help of

ray diagram.

fgsr : (F) Y9 FHIF 16 Td 17 SOy 7 ¥ 1 @S W W 6 IH
syefed &1 (ST FT Afuman T==-H191 250 T8 ®)

Instruction : (F) Question Nos. 16 and 17 are long answer type questions.
Each question carries 6 marks. (Maximum word limit of

answer is 250 words)

=16 iy I wE A fafa) o aviy gew qun v g o
m?ﬂ%ﬁﬂﬁaﬁmﬁﬁnﬁ?mﬁammﬁm

Write the main characteristic features of colour blindness. What will
be the hereditary of the offspring when a colourblind man marries
with a normal female? Explain it with ray diagram.

HETT CGBOARDonline.com
OR
A HedTo &g Siesh sfatmaf ¥ sy fafan)

Write the applications of Genetic Engineering for human welfare.

(5]

[3+3=6]
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WP-17 380 & ge @ o € i foRafafy B whRg K (ST WA 9 (343=6]
UK IEERSUE el

Explain the mechanism of opening and ClOSING U1 stumuse ~,
K* (ion) transport theory with the help of ‘labelled diagram.

Heqr
OR CGBOARDonline.com

Fot Aufedd o1 7oty fa It 3986 9 9P 1 9 <hifore |

Draw a labelled floral diagram of family Papilionaceae and describe
its reproductive parts,



